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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt any five questions.
3. Al questions carry equal marks.

4.4 Answers may be wntten either in English or Hindi; but the same medium . should
be used throughout the paper
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1. What is a Production Possibility Curve ? How does it help in defining the concepts

of scarcity, choice and opportunity cost ? (5,10)
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2.

(a) Explain the concept of price elasticity of demand. What are the main factors

on which price elasticity of demand depends ?

(b) At price of Rs. 5 per cup of tea, a consumer buys 10 cups of coffee.
If the price of tea rises to Rs. 7 per cup, the consumer buys 16 cups
of coffee. Estimate cross price elasticity of demand between tea and
coffee. (10,5)
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(a) Define an Indifference curve. Show consumer’s equilibrium with the help of
indifference curve and budget line.

(b) Explain price, income and substitution effect when price of a normal
commodity falls. A (7%,7%)
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(a) Discuss the relationship between Total Product (TP), Marginal Product (MP)
and Average Product (AP) of a variable factor.

(b) Compare Law of diminishing returns to a factor and returns to scale.
| (8,7
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5. (a) What do you understand by Fixed Costs and Variable Cost ?

(b) Calculate the Total Variable Cost (TVC), Total Fixed Cost (TFC), Average
Cost (AC) and Marginal Cost (MC) from the data given below : -

Units of production ~0,| 1 l 2 I 3 | 4 5 l 6

Total Cost (TC) 30 | 60 | 80 l 90 l 104 I 13'0‘ 165 (5,10)
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6. Explain the equilibrium of a firm under perfect competition in short and long run

with help of suitable diagrams. (15)
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7. (a) State the difference between shut down point and Break-Even point of a

firm under Perfect competition.

(b) Explain allocative efficiency in Perfect competition. (8,7)
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8. Write short notes on any two :

(i) Short run supply curve of a perfectly competitive firm
(i) Relation between Average Cost and Marginal Cost
(i) Paradox of Value
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